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Revision for

Problem for Simpson’s Even Family of Rank Four

statement of Theorem

I'(14 A2, 2 4 Ai2sa, 3 + Masase, 3 + Aas7, —Ai3)
D(1+ Ao, 14 A, 3+ Migsas, 3+ Masasers —A3)
D(1+ A3q, 2 4 Asas6, 3 + Aas7, — A1z, —1 — Apo)
(1 + Agy 24 Asas, 3 4 Asase, —A1, —1 — Ajog)
L1+ Ase, 3 4 Aasz, =Mz, —1 — Asa, =2 — Ajasy)
T(14 A5,2+ Aser, — A3, —1 — Ajag, —1 — Aizg)
(3 + Aas7, —A13; —Ai23a, =1 — Mg, =1 — As)
(14 Ao, T4+ A7, = A1, =g, —1 — Aizg)

(1 + A2, 2 + Ai2sa, 3 + Aiasase, 3 + Aas7, — A1)

L(14 Aoy 1+ Ay, 4+ Mosas, 3 + Ai2zaser, —Az)
(1 4+ Asa, 2 + Azas6, 3 + Aas7, —A13, —1 — Aj2)

T(14+ A, 2+ A3as, 3+ Azaser, — A1, —1 — Ajag)’
(1 + Ase, 3 4 Aas7, — A1z, =1 — Asgy, =2 — Ajagq)
T(14 X5,2 4+ Aser, — A3, —1 — Ajoz, —1 — Aizy)
(3 + sz, —A13, =2 — Aguse, —1 — Aig, —1 — Asg)
T(1+ Ao, T4+ A7y = A1, =g, —1 — Aizq) '




